& #)

Es BmEER
Zet rAEE T ARE =5 ET BE
T LIS D B ~ST4E4F 288
ITEES
I 5 B =
FRI7IL MBET A=3, 320m2




IE;;’:&%K&*@% EO0 0001
BE - TEVMARY R - B2 BA{r BE EE
A TER
LS R 1 L)Ll
HiEhH#HET . 1 L2
ERMRERBEL R 1 L~L3
B Sy EAR R [#%, 104LL L] X o L_L4
ELfR oy B AR [B2E, 10421 k] " o L4
ERRTER LT 4 1 L2
BEERL R 1 %
BETE IR R (BRAR) (77, V7% 77" ] o . L4
HHET & 1 L2
TARZ7 7V KT & 1 LL3
B A BmEbik (RER+BER) > s 320 L4
HfE (HE - BFED) [#hiAs[13], E T, t=40mm, W=3miE] . s 520 L4
e T N 1 LL2
REEHET . 1 L3
REHFEERBA < 1 LAV
REFHEHEB + 1 VL4
* k HEETHE % *x

IR B E A



TEEERER

4|||T[|

HO0 -0002

BE - THEAMR LY

Bkl - B2

-4

&

(B2

BB RSy

% k LBHIRREF & *x

* % fli % * *

S5 EHE

% x TEJF M % *

—ARE E R RSy

SUIPRAE R

—REEE

* k HEBUHE L8 * *

% k THEEFH % %

* * FHOHAER % *

J5 B R E R At



